
K1440500-00-02

K1-440500-00-02

K1-44
32 ID WALL COLLIMATOR

FE LEAD ASSEMBLY

.1 [2.5]

.01 [0.25]

.005 [0.13]

.25°

125

1=2

D2 3

   corcuera 12/18/98

J. CHANG 2/19/99

A. CORCUERA 12/18/98

J. CHANG 2/19/99

D. SHU 3/5/99

T. KUZAY 3/5/99

16.56 [420.62]

15.50 [393.70]

1

15

1218
13

16

(     )

15.75 [400.05]

16.50 [419.10]

18

2 PIECES

6 2 PIECES

4

2

5

18

9.13 [231.78]

13
14

13

3

K1-44 FE WALL COLLIMATOR BASE PLATE

K1-44 FE WALL COLLIMATOR SIDE PLATE

K1-44 FE WALL COLLIMATOR SIDE PLATE

K1-44 FE WALL COLLIMATOR FRONT PLATE

K1-44 FE WALL COLLIMATOR BACK PLATE

K1-44 FE WALL COLLIMATOR RETAINER PLATE

K1-44 FE WALL COLL. LINER PLATE

Ø1/4-20 x 1/8" LG. HOLLOW LOCK SCREW

#10-24 x 1/2" LG. SOCKET HD SCREW

#8-32 x 1/2" LG.  FLAT PT. SET SCREW

Ø1/4-20 x 3/8" LG. FLAT PT. SET SCREW

#8-32 x 5/8" LG.  FLAT PT. SET SCREW

 SHEET 2 OF 3 FOR STEEL CONSTRUCTION  ONLY.

 NOTE:

14

K1-440501-00

K1-440502-00

K1-440502-00

K1-440504-00

K1-440505-00

K1-440506-00

4

2

1

3

5

6

7

9

8

10

11

12

13

K1-440512-00

15

16

18

STAINLESS STEEL

STAINLESS STEEL

STAINLESS STEEL

ALLOY STEEL

STAINLESS STEEL

4

1

1

1

1

1

1

30

11

8

3

3


